MANUAL

SHAPE BANNER
WIDTH 60cm
HEIGHT 150cm

60cm

YELLOW (3) YELLOW (3)

150cm S —

PURPLE (1) GREEN (2) __
v D L

—~ =
i

PARTS LIST
«——— | 1x | STEELPLATE (omm) 1x | TOPCORNER
T 2x | SCREW(M8) L 1x | BOTTOM CORNER

r 1x HEXA-KEY (M8) 2x TUBE VERTICAL (2 34mm)




MANUAL

SHAPE BANNER
WIDTH 60cm
HEIGHT 200cm

60cm

YELLOW (3) YELLOW (3)

200cm S —

PURPLE (1) GREEN (2) __
v D L

—~ =
i

PARTS LIST
«——— | 1x | STEELPLATE (omm) 1x | TOPCORNER
T 2x | SCREW(M8) L 1x | BOTTOM CORNER

r 1x HEXA-KEY (M8) 2x TUBE VERTICAL (2 34mm)




MANUAL

SHAPE BANNER
WIDTH 80cm
HEIGHT 150cm

80cm

YELLOW (3) YELLOW (3)

150cm S —

PURPLE (1) GREEN (2) __
v D L

—~ =
i

PARTS LIST
«——— | 1x | STEELPLATE (omm) 1x | TOP CORNER
T 2x | SCREW(M8) L 1x | BOTTOM CORNER

r 1x HEXA-KEY (M8) 2x TUBE VERTICAL ( 2 34mm)




MANUAL

SHAPE BANNER
WIDTH 80cm
HEIGHT 200cm

80cm

YELLOW (3) YELLOW (3)

200cm

PURPLE (1) GREEN (2) __
v D L

—~ =
i

PARTS LIST
«——— | 1x | STEELPLATE (omm) 1x | TOPCORNER
T 2x | SCREW(M8) L 1x | BOTTOM CORNER

r 1x HEXA-KEY (M8) 2x TUBE VERTICAL ( 2 34mm)




MANUAL

SHAPE BANNER
WIDTH 100cm
HEIGHT 200cm

100cm

YELLOW (3) YELLOW (3)

200cm

PURPLE (1) GREEN (2) __
v D L

—~ =
i

PARTS LIST
«———> | 1x | STEELPLATE (omm) 1x | TOPCORNER
T 2x | SCREW(M8) L 1x | BOTTOM CORNER

r 1x HEXA-KEY (M8) 2x TUBE VERTICAL (2 34mm)




MANUAL

SHAPE BANNER
WIDTH 100cm
HEIGHT 250cm

100cm

YELLOW (3) YELLOW (3)

250cm

PURPLE (1) GREEN (2) __
v D L

—~ =
i

PARTS LIST
«———> | 1x | STEELPLATE (omm) 1x | TOPCORNER
T 2x | SCREW(M8) L 1x | BOTTOM CORNER

r 1x HEXA-KEY (M8) 2x TUBE VERTICAL ( 2 34mm)




MANUAL

SHAPE BANNER
WIDTH 100cm
HEIGHT 300cm

P 100cm R
A
— YELLOW (3) VELLOW (3)
300cm my M 1
PURPLE (1) GREEN (2)
v D L
4 A
1 1
1 t
1 1
/ /
i
1 1
PARTS LIST
—&——> | 1x | STEELPLATE (o) 1x | TOPCORNER
E 2x | SCREW(MS) L] 1x | BOTTOM CORNER
r 1x | HEXA-KEY(M8) 2x | TUBE VERTICAL (& 34mm)
=——=: | 2x | TUBESUPPORT(®24mm)




